XYZ2,=97.93,100.0, 118.95

7,380 7751762 180 2141 0309 03155 18%

Parameter:
A=25@-3)Y Y & Name
258, (b-by) Y Lichtart QOO
=ay[(x=x.) /) Y=10Q Y,=50
b=bylz/y
=1, byy=-04
%, =0,000, B = 1,000 K
Cp=lA+E 12 | 786, Q @ 70R,
6 OslwaIdFarben (0) ' \
von (m)Cygim | n 0';) —t
Buntwertdiagramm (A, B) ~100 . 816,0 Q s 100
Lichtart Q00, Y,,=10Q Y, —50 d @72M,
Name BerechX, V. 2, s K
R, 567_775 7952 69,54 59.62 P .~ ° \
v 492_775 87.99 97.23 63.08 0.3543 0.3915570 462 53B, M
G, 492567 5754 77.78 63.06 0.20 0392 535 535¢ . L.
C, 380_567 67.52 80.6 11898 0.2527 0.3017 487 596 Sel R
B, 380_492 59.04 52.01 115,52 0.2505 0.2326 462 570 “~ .
M,567_492 895 72.36 115.540.3226 0.2608 535535 _1004 et
W,380_775 97.93 100.0 118.950309 03155 100% A
N, 380_775 48.96 50.0 50.47 0309 0.3155 50%
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